H & 0l & AHS B Ml A

M 20l
ZM: 2HTA X4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
230l 25,712,698 27,182,169 1,469,471
= 85,000
[ 1,500,000
Jl 1,686,970
< 930,330
Al 21,510,398
E3EAl =4 19,760,334 18,617,373 1,142,961
) 1,686,970
= 309,830
Al 17,763,534
Za=gs N2 13,951,984 12,969,102 982,882
Jl 1,686,970
[ 309,830
Al 11,965,184
ZSH0I=AIM 2H5t 86,080 86,080 0
202 04l 45,080 45,080
01 2LHoIH 10,080 10,080
O=3tti=gs K20y
840,000 * 12 10,080
03 =S R0 5,000 5,000 0
Oge=8 =2/04| 5,000,000& *14] 5,000
04 =Xl=to1bl 30,000 30,000 0
OgRsaEs 24
30,000,000 *14{ 30,000
203 HR=H] 41,000 41,000
03 A=A R =AH] 41,000 41,000
OABZ=NHRFAY|
41,000,000 *14] 41,000
H=EME 29 6,176,392 8,284,440 /2,108,048
306 EX= 6,176,392 5,972,168 204,224
01 £g= 6,176,392 5,972,168 204,224
O3=EsM- 24
3,102,392,000& *14] 3,102,392
OdF=2=te 1=
2,919,000,000& 14 2,919,000
039 2AAEHRSEYI)
120,000,000 *14] 120,000
OFAd d20l= - (Ls)
35,000,000 * 14! 35,000
EAE AE=2d 2,549,767 0 2,549,767
308 XHXIEMSO0IH 2,185,517 2,185,517
183 SI12S0l et PIEFAHI 2,185,517 2,185,517
Ogtt=Z3HdE 767,529,000 x14] 767,529
OXletoll=2 744,126,000 * 14 744,126




M 20l
ZM: 2HTA X4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEEXEEERTE 72,712,002 %14 72,712
ON=? MESSHE
272,560,000 * 14 272,560
OdazsHE 175,700,000 * 14! 175,700
OtEs3¢% 76,570,000 x14] 76,570
Osgisds32t 76,320,000& x14] 76,320
403 AXIEHMSAH=0ld 364,250 364,250
02 B2 S0t H2H A A 364,250 364,250
OEt=E3tdIH 67,000,000 *14] 67,000
Oxloto=2 182,000,002 14! 182,000
OMER ME25HME
15,000,000 * 14| 15,000
OHadsHd 90,250,000 » 14 90,250
OHgssdd 10,000,000 *14] 10,000
MEz KR (HEALY) 140,000 140,000 0
== 70,000
Al 70,000
308 AHXIHMSO0IA 140,000 140,000 0
< 70,000
Al 70,000
18 SISOt EAS A 140,000 140,000 0
Odzl=s N 140,000,000& * 14| 140,000
= 70,000
Al 70,000
HEEE 28 243t 8,100 9,720 1,620
=S 2,430
Al 5,670
308 AtXIEMSOIE 8,100 9,720 1,620
== 2,430
Al 5,670
13 S [2S0He 4 A AS A 8,100 9,720 A1,620
Odg=silE T2d 2
8,100,000 +14] 8,100
= 2,430
Al 5,670
LRME2oHEH =2 55,000 55,000
307 gl2to| & 55,000 55,000
05 212t =S 55,000 55,000
OB MESBME 2
55,000,000 * 14! 55,000
BHEMSE2SME 2 80,000 80,000
307 212+01& 80,000 80,000
05 2ItRIE = 80,000 80,000




M 20l
ZM: 2HTA X4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OHzgdg=siE =29
80,000,000& » 14 80,000
SE 230123 AIY 2,478,970 2,180,420 298,550
) 1,686,970
= 158,400
Al 633,600
301 EtE N = 2,478,970 2,180,420 298,550
Jl 1,686,970
[ 168,400
Al 633,600
01 AR 2EHSHS(RNEXRTH) 2,478,970 2,180,420 298,550
OSg2201Sd A
2,478,970,000& x 14 2,478,970
Jl 1,686,970
< 168,400
Al 633,600
EFAE0s2 A8 125,000 20,000 105,000
405 AHatE = 125,000 0 125,000
01 ML ESFSHI 125,000 0 125,000
Obl=3 +¢ 25,000,000& *5& 125,000
AFANE0=2 22 13,500 3,500 10,000
201 Zet=3h] 13,500 3,500 10,000
01 AtR2te|HI 13,500 3,500 10,000
OEFAglls2 I2+E
70,000 * 102 #52 3,500
Olle3 A= 2545 Y
9,000,000 14| 9,000
Oll=3 SAl=g0 LSH 7
100,000 104 Xt 1,000
FO0tEHZC 2 55,441 50,920 4,521
101 21AH| 35,341 35,320 21
04 JIZtN2Z2XNS 2= 35,341 36,320 21
OSHIARA(AF0IEL AR N 22]) 36,341
>llEs 2,386,780« 1& 12 28,642
D> AXt=g 11,4202 8AI 2+ 1811 1,005
P=UASREYES 29,646,3202 4. 5% 1,335
PAHLEE=S 29,646, 3202 *3.545% 1,051
PEAINQAYEEZ 1,050,960 %12.81% 135
PHNESES 29,646,320 *1.75% 519
DAES S 29,646,3202 0. 9% 267
>EAS 2,386, 7803 %14 2,387
201 et 3| 15,600 15,600
01 At22t2l] 6,000 6,000




SN 28051
M BotAl =4
o 23tizEs XA (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
SEENEEPEBIEEET]
500,000 * 122 6,000
02 S3=gHl 9,600 9,600 0
OEF0tE2dE 332=
800,000& * 122 9,600
401 AIEHIZ SR 0HYI 2,500 2,500
01 Al&HI 2,500 2,500
O3 F0tE2dciel NERIES
2,500,000& *14] 2,500
405 AHatE = 2,000 2,000
01 MMM ESFSHI 2,000 2,000
OPC 1,300,000 *1CH 1,300
OZgH 700,000 *1CH 700
Ol=Etdl X1 116,455 117,643 1,188
202 04| 7,200 7,200 0
01 =LHOLI 7,200 7,200 0
O=2zegsiE =0
600,000& * 122 7,200
307 elztol & 109,255 110,443 A1,188
03 2 HEE=2SHIE X 109,255 110,443 1,188
OANE=R0=23HHESHE BFRE 2
= PNE! 68,030,000 * 14 68,030
O(ALRLINS BEXR SYX
41,225,000 *14] 41,225
=AY 2Y 72,000 0 72,000
201 el 72,000 72,000
03 Ar=EHI 72,000 72,000
OdFd=HAZ 72,000,000& *14] 72,000
AFt=d AlY 2 FF0=A EED1E3 11,700 0 11,700
307 el2to| & 11,700 11,700
04 QIZIHAIAME 2 & 11,700 11,700
OF0il=d Alet & AF0=X SEIIE
=l 11,700,000 * 14! 11,700
ZEHSHM I 11,000 11,000 0
307 212+01& 11,000 11,000
04 QIZHHAIAIH E X 11,000 11,000
OZ &A= 11,000,000 * 14! 11,000
AT 25 15,300 16,300
307 elztol & 15,300 15,300
04 QIZHHAMAMH 2 & 15,300 15,300
OdFdY=stM 15,300,000 » 14 15,300
HFESA g2t 10,000 10,000
307 gl2to| & 10,000 10,000
02 QIZtEHAEE X 10,000 10,000
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SN 28051
M BotAl =4
tel: Sti=gs X (St &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOPLHINI=E 21X & 23t32 =4
300,000,000 x 14 300,000
Hx2ed 29 580,964 579,064 1,900
307 gl2to| & 565,864 579,064 A13,200
02 QIZHEAAEE X 83,758 93,064 29,306
ORESsA BS X8
83,758,000 * 14! 83,758
03 M EHE2SHIEX 482,106 486,000 A3,8%4
OuFESsiA 22y g
482,106,000 x14] 482,106
401 AlEHIZ 2018 15,100 15,100
01 Al&H| 15,100 15,100
O(R)A==2st =37198H| o1
15,100,000 * 14 15,100
A2 FAHS2 &4 60,000 0 60,000
< 30,000
Al 30,000
401 Al HIZL S 0HYI 38,000 0 38,000
< 19,000
Al 19,000
01 Al&H| 38,000 0 38,000
Od=2=td FHs2 =4
38,000,000& »14] 38,000
= 19,000
Al 19,000
405 AtatE=H 22,000 0 22,000
== 11,000
Al 11,000
01 TR ESF SHI 22,000 0 22,000
Od==2=Ha JiAs2 HIE 7L
22,000,000 * 14| 22,000
= 11,000
Al 11,000
A2 F¥E 7054 018 20,000 20,000
307 gl2to| & 20,000 20,000
04 QIHHAMAIH 2 £ 20,000 20,000
Od=2td 8 7073 JIE&A
20,000,000 *14! 20,000
ANY2H2 2 243 60,000 0 60,000
< 26,000
Al 34,000
307 lztol & 60,000 0 60,000
= 26,000
Al 34,000
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2A: S0t
ma: 23N X4
C: A= 24 (9._94:;3_3_]
SA - BB -GS - MRAY - BES Ofl by G o MimE=EY
OAMAXIZ| Kt 5,000,000& *x1H*12& 60,000
OCHRA (783 232 2)
3,667,600& 12 x 128 44,012
OLMBIETHTZE 1282)
2,439,300&*1H 128 29,273
OBIEIHT72 83 8)
2,134, 720218 %128 25,617
Ot (82 235 =2)
2,738, 7203128 %128 32,865
O (8= 215 8)
2,657,680&x7Hx 128 223,246
ot (8z 2058)
2,614,480 78 x 128 219,617
O (82 1958)
2,569,200& 7 x 128 215,813
O3 (8= 182 2)
2,521,680& 2 x 128 60,521
ott(sz 17e28)
2,472,240 18 x 128 29,667
O (8= 1hae)
2,366,480& 18 x 128 28,398
O3 (82 145 8)
2,309,203 *4H x 128 110,877
Ot (8= 1382 AZCHl)
2,693,700 18 x12& 32,325
O (8= 1258)
2,189,280& 18 x 128 26,272
O (8= 85 =)
1,919,203 x 1~ 12& 23,040
O (82 65 2)
1,766,560 x & x 122 21,19
OHE (8= 45 2)
1,612,560& x 1+ 12& 19,351
DHsSSH(AUSHA) 49,200
OURE, £HBIER, 248
150,000 6« 128 10,800
OISR, BIET}, BCiR
100,000 *32& x 128 38,400
> KB4 A QI EHRI) 49,200
OTHRE, £MBET}, SMCH
150,000& 6= x 122 10,800
OISR, BIET}, BCigl
100,000 *32& x 128 38,400
D2 (AUTH) 26,400
OSHRE, £MUET}, SMCH
100,000& +6H x 128 7,200
oguiEtel, BIFER}, oiBCie
50,000& *32 » 12& 19,200




SN 28051
M Bt Al =4
el Aglse |4 (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
> uwSH| 55,080
OHSE, S&BFX}, BE
130,000 x3&* 122 4,680
OYLHEHR | otEChRl SACH
120,000 «35E 122 50,400
D> EA-g () 78,350
(OPNEDN; 70,0002 x1H 53] 350
OttRE, =it & &d, 9=2HA
50,0002 *39E *402 78,000
DEESIH|(AYEH)
57,104,220 =23 114,209
PEERY P8z 166,813
O=pA=RE3
1,496, 172,840 4. 5% 67,328
OdAEE= 1,496, 172,840 %3.545% 53,040
oFIIRALEE= 53,039,320 x12.81% 6.795
OLNEEE= 1,496, 172,840 %1.75% 26,184
OttEs s 1,496,172,8402 0. 9% 13,466
>EAS 40,000,000 *14] 40,000
OAgetat 248l 147,044
DAEATZ 46,400
OUAXIF = (HI2F)
5,000, 0002 x1E 23] 10,000
OEAZ(H) 2,000,000 x1E 82 16,000
Ot (Aet) 1,500,000 x 122 3,000
O8= 2 MR 2=
1,500, 0003 *1H 23] 3,000
OWJ A (H) 300,000 «6H +82] 14,400
P 2= M 10,000,000 * 14 10,000
>PEIIBE E22 ME
600,000& *14] 600
D>SHGAM| 8,000& x50 +83] 3,200
>IHCR0I(RY)
78,8803 x 12«83 7,573
DRUEAH ASHI 300,000 %53 1,500
DAIRA 2E+=E4| 600,000& * 122 7,200
>EH0H 50,0002 x3& 123 1,800
>PESeRs 100,000& * 12 1,200
PEEE RER= 100,000 ~12& 1,200
>ueE =5l Q7R *BAI 2H72L 523
>ote FY 10,000,000& * 14| 10,000
DetE=SAE & MESI 300,000 +83] 2,400
PPNESTaL= 50,0002 +82] 400
e 1,400,000« 10& 14,000
PAFS NE 8,000 x39& 42 1,248




A 2350t
MM 25T A =4
el AlEoisY 4
£ = qE|
A -3 - AA(3H) - MRAY - BE= 04| AkeH OE”E&
D OOt =8 200,000 x2CH*83] 3,200
DAZE D9 300,000 %435 1,200
D>AFRIID| 22ldl 50,0002 * 122 600
D22 RE 3,000,000 %14 3,000
>oAREIHE 20,000,000% 14! 20,000
DOIREEX X AUXE
500,000 23] 1,000
DEIAISEE AFH
300,000 %13 300
D> EH2EEUME 222
2,500,000 %13 2,500
DAL 200,000 x5 2«33 3,000
e 3L 3,000,000 %14 3,000
AN WEACH 2 3,088,232 2,966,987
201 LEH2H| 2,030
01 AFR2t2|H] 2,030
Omertcte| a3 Zag 2,030
D22 70,0002 72 +235| 980
>EESH 70,0002 x5 2«33 1,050
301 LEEEZ 3,086,202 2,964,957
2osc . 2SRE2A2 3,086,202 2,964,957
OAEmeretet g2 2,758,433
D> S0 (Actel) 1,922,399
O AU X| 3| K 4,500,000« 1H 122 54,000
02X (63 1952)
3,813,500« 1H 122 45,762
OHR(72 285 )
3,220,000 «2H * 122 77,280
oOCtA(72 2718 E)
3,190, 0002 +3%H « 122 114,840
OHHR(72 265 2)
3,156,000« 1H 122 37,872
OCt(72 255 E)
3,117,000« 1H* 122 37,404
OLHR(72 245 L)
3,076,000 +5% « 122 184,560
OEtR(72 23582)
3,035,000 2% « 122 72,840
oOHR(72 225 8)
2,990,000 *5% * 122 179,400
O (72 2158)
2,944, 0002 x2% * 122 70,656
oER(72 19582)
2,844,000 *5% « 122 170,640
oOHR(72 185 E)
2,791,000 7122 234,444




SA: 250D
B DBTAl KA
S AN |4 (9._94:;3_3_]
S B SR (BI) - HISAY - BAS ofl b0 G o MimE=EY
OHR(72 1632)
2,677,000 x1H*12& 32,124
Ot (72 1b58)
2,611,000 x6H = 12& 187,992
OSHR(72 1452)
2,547, 0003 *3H x 128 91,692
0H(72 1432, ABE)
3,086,400 x1H*12& 37,037
o723 1352)
2,476,000& 18 x 128 29,712
Ot (72 1282)
2,406,000& 2= x 128 57,744
OHR (72 1138)
2,329,000& x2H = 12& 55,8%
osHRI(72 1052)
2,249,000& 2 x 128 53,976
Ot (7=2 83 &)
2,080,000&*3H x12& 74,880
OHR(72 be=2)
1,804,0003 x 1P x12& 21,648
NV EES=TeN-=) 85,200
OLEX, Axctel
200,000 x 15 =122 36,000
OYBIELR | OtBEIRl | ob)|EH
100,000& x4 1H 122 49,200
> RS ACH(ARICHR) 86,400
OLH, AActel
200,000 x 15 = 122 36,000
OYBIEIR | otECtel op|ckel
100,000& x4 1H 122 49,200
OLEHA 100,000 *1H *123] 1,200
D2 E(AUTH) 42,600
OLEX, Axctel
100,000& x 159 = 122 18,000
ORISR | OtBEIRl | ob)|EH
50,000& *419+ 122 24,600
> DEH| (A Erel)
130, 00021 +56% « 1224 87,360
D SHESH(AASHRA) 28,850
O XI& Xt 70,0003 x1H *x53] 350
OMUHA 50,000& *57H %103 28,500
DHESI(AYUER)
93,419,9402 %23 186,840
DERERY BE¥a 268,784
o=plpizEa
2,410,798,680& *4 . 5% 108,486
OHLUBEE 2,410,798,680& *3.545% 85,463
OEIQUREE 85,462,81021%12.81% 10,048




SN S3H0IED
M Bt Al =4
2l AlElEs =4 (Ete &
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OLNEEEE 2,410,798,6802 *1.75% 42,189
(ORI =A== 2,410,798,680& 0. %% 21,698
>EAS 50,000,000& *14! 50,000
OAlgugrettt 23| 327,769
DURAAZRZ 154,400
oAATIZZ(712)
3,000,000& x1H*33] 9,000
OUAXF=(EII)
5,000,000 «1&+33] 15,000
OEAHZ() 4,000,000 *1E 162 64,000
O3 XA MBI
400,000 *1H 62 2,400
oRactd 400,0002*10E * 162 64,000
>IOIE=S M 10,000,000& * 14! 10,000
>oz3 222 A
1,500,000& 163 24,000
DHIIelE E2= A
600,000 *14] 600
D>eF3 S| 8,000& «80& » 162! 10,240
DA ER01(QLRY)
78,8802 x10E 163 12,621
>RUSS AEH| 300,000 43 1,200
DAL 23| 200,000 x 122 2,400
>E&0Y 50,0008 38+ 122 1,800
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